XYZ,,=100.0 , 100.0 , 100.0 Y=Y-50

2= a0l (X=.) /]
bobizly 606,

a0=1, by =-04

X, = 0,110, B, = 0,900 e
Crg=[AF+BA 55
6 OstwaldFarben (o)
von maximalem (m)C,g im I
linearen Farbenraum (Cyg . Yé '/
Lichtart £00, Y,,=100 Y, =0 .

Name Bereich X, v K Yy
R, 570_775 6552 4049 024 0.6165 nsm 593 489
V) 49477758339 9482 619 04522 0.5141573 463
G, 494570 18.07 54.52 6.14 02295 0.6924 536 536
C, 380570 34.67 59.7 99.95 0.1784 0.3072 489 598 Parameter:
B, 380494168 537 940 0.446 0.0462463 573 Y & Name
M, 570_494 82.12 45,67 94.05 03701 0.2058 536c536 f
W} 380_775 100.0 100.0 100.0 0.3333 0.3333 100% Lichtart 0D
N30 77501 01 01 03332033 0% Y,,=100 Y,=0
Z,380_775180 180 180 03333 0.3333 18%
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